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Note : 

i. All questions are compulsory.

ii. Programming language c++ .

iii. Answer the questions after carefully reading the text.

1. a) Name the header files to which following standard functions belong:


(2)


i) random()

ii) gotoxy()

iii) getc()

iv) strcmpi()

 (b)
List any five characteristics of destructors





(2)
(c)
What is variable scope? What is the difference between Local and Global scope? Explain 
with an example









(2)

(d)
Rewrite the following program after removing the syntactical errors 
(if any). Underline each correction. 










(2)


#inclde [iostream.h] 


class PAYITNOW 


{ int Charge  


PUBLIC


void Raise( ){cin>>Charge;} 


void Show{cout<<Charge;} 
}; 



void main( ) 



{ 
PAYITNOW P; 




P.Raise( ); 




Show( ); 
} 

e) Observe the program segment given below carefully and fill the blanks marked as 

        Statement 1 and Statement 2 using seekg() and write() for performing the required task.











(2)



#include<iostream.h>



#include<fstream.h>

                            class customer





{




char name[40];




long int phone;




public:




void search_phone(int recno); // Searching of telephone                                                                                           







// number for a given record number





void modify(int recno); // Function to modify the phone number

                                                                                //  of a given record number





};



void customer::search_phone(int recno)



{



fstream fin;



fin.open(“CUST.DAT”, ios::binary | ios:: in);



_____________________  //Statement 1



fin.read( ( char *) this, sizeof(customer));



cout<<name<< “\t” <<phone<<endl;



fin.close();



}



void customer::modify(int recno)



{



fstream fout;



fout.open( “CUST.DAT”, ios::binary | ios::in | ios::out);



cout<< “Enter the new phone number”;



cin>>phone;



fout.seekp(recno * sizeof(customer));



_____________________  //Statement 2



fout.close();



}



 

      f) What will be the output of the following program?





(3)



#include<iostream.h>



#include<string.h>



class person




      
{





char name[20];





int age;





public:





person(char *s, int a)





{





strcpy(name,s);





age=a;





}





person &greater(person &x)





{





if(x.age >=age)





return x;





else





return *this;





}





void display(void)





{





cout<< “Name:” <<name << “\n” << “Age:” <<age << “\n”;





}





};



void main()




{




person p1(“John”, 30),




            p2(“Ahmed”, 29),

        



p3(“Hebber”, 40);




person p(‘\0’, 0);

 


p=p1.greater(p3);




cout<< “Elder person is:\n”;




p.display();




p=p1.greater(p2);




cout<< “Elder person is:\n”;




p.display();




}

   Q. 2) 

a) Assume that you are writing a text based medieval video game. Your video game will have two types of   characters, the player and the monsesters. A player has to know the values of certain attributes of characters.











(4)




Health 


integer




Strength

integer




Agility


integer




Type of weapon
String




Type of armor

String

    A player must be able to perform the following actions:


Move()


/*Initialize Health by 16, Strength by 12, Agility by 14, Type of weapon by  



Mace and Type of armor by leather */


Attackmonsester()
// Display the following message ‘Attack monsester with’ Type of weapon 
Gettreasure()

// Increments the value of the players health by 1

   Define player class with the above specifications.


(c)
Answer the questions (i) to (iv) based on the following code:



[4]


class Car


{



char Model[10];



char Date_of_purchase[10];



char Company[20];



public( );



int no_of_car;



Car( );



void entercardetail( );



void showcardetail( );


};


class Accessories : public Car


{



protected:



char stereo_tape[30];



char sheet_cover[20];



public:



float Price;



Accessories( );



void enteraccessoriesdetails( );



void showaccessoriesdetails( );


};


class Dealer : public Accessories


{



int No_of_dealers;



char dealers_name[20];



int No_of_products;



public:



char dealer_area[10];



Dealer( );



void enterdetails( );



void showdetails( );


};

(i) How many bytes will be required by an object of class Car and an object of class Dealer.

(ii) Write names of all the data members which are accessible from the objects of class Dealer.

(iii) Write names of all the members accessible from member functions of class Accessories.

(iv) Write names of all the member functions which are accessible from objects of class Dealer.

e) Find the output of the following program







(3)


#include<iostream.h>


void change(int Ar[] , int count)


{


for(int C=1;C<count;C++)


Ar[C-1] += Ar[C]; 


}

void main()

{

int A[] = {3,4,5}, B[] = {10,20,30,40}, C[] = {900,1200};

change(A,3);

change(B,4);

change(C,2);

for(int L=0;L<3L++)

cout<<A[L]<<’#’;

cout<<endl;

for(L=0;L<4L++)

cout<<B[L]<<’#’;

cout<<endl;

for(L=0;L<2L++)

cout<<C[L]<<’#’;

cout<<endl;

}

Q. 3  a) Change the following infix expression into postfix expression.



 [ 2 ]




( ( ( ( A+B) * C)+(D/E) )-F)


b) Write a program to read an array of N positive integers. Define a function shift() to shift

 all odd elements towards left and even to right without changing order of numbers.
(4)


Example: If input: 1,5,7,8,9,2,10



     Output: 1,5,7,9,8,2,10.

c)
Write a function in C++ to INSERT operation in a dynamically allocated stack considering the following description:










[4]


struct Node


{



float U,V;



Node *Link;


};

class QUEUE 

{


Node *Rear, *Front;


public:


QUEUE ( ) {Rear=NULL ; Front = NULL ; }


void INSERT ( );


void DELETE ( );


~QUEUE ( );

};

(d)
Write a function selection_sort to sort the passed array of 10 integers in descending order using selection sort.











[3]

e) An array A[5][25] is stored in the memory with each element requiring 4 bytes of storage.  If the base address of array in the memory is 1000, determine the location of A[5][7] when the array is stored as i) Row major
ii) Column major






(4)

Q.4 (a) Write a user define function in C++ to read the contents from a text file STORY.TXT, count and 

display the number of alphabets present in it.







(3)
        b)
Observe the program segment given carefully, and answer the question that follows:














[1]

class Joy

{


int Joy_id;


char Joy_name[20];


public :


// function to enter Joyians details


void enterdetails ( );


// function to display Joyians details


// function to return Joy_id


int AJoy_id( ) { return Joy_id; }

};

void Modify ( JOY NEW)

{


fstream File;


File.open (“JOY.DAT”, ios :: binary | ios :: in | ios :: out);


JOY OB;


int Recordsread = 0, Found = 0;


while (!Found && File.read (( char*) & OB, sizeof(OB)))


{



Recordsread++;



if(NEW.AJoy_id( ) = = OB.AJoy_id( ))



{



 
________________ // Missing Statement



File.write ((char * )&NEW.sizeof(NEW));



Found = 1;



}



else



File.write((char *)&OB, sizeof(OB));

}


if (!Found)


cout << “Record for modification does not exist”;


File.close ( );

}

If the function Modify( ) is supposed to modify a record in file JOY.DAT with the values of JOY NEW passed to its argument, write the appropriate statement for Missing Statement using seekp( ) and seekg( ), whichever needed, in the above code that would write the modified record at its proper place.

(c)
Write a function in C++ to search for a room-number (RoomNo) given by the user in an already existing binary is called ‘Hospital.Dat”. Also display complete record of the room-no searched if found otherwise display a message ‘not found”.







[3]

class Hospital

{


int Room_No;


char Patient_N [30];


public :


void Input( ) { gets (Patient_N); cin >> Room_No; }


void Output( )


{



cout << “Patient’s Name:” << Patient_N << endl;



cout << ‘Room Number:” << Room_No << endl;


}


int Getroom( ) { return Room_No; }

};

Q. 5 
a) Differenciate between primary key and Unique key.



(2)


  b) Consider the following tables SCHOOL and ADMIN. Write SQL commands for

         the statements (i) to (iv) and give outputs for SQL queries (v) to (viii). 

(6)

SCHOOL

	CODE
	TEACHERNAME
	SUBJECT
	DOJ
	PERIODS
	EXPERIENCE

	1001
	RAVI SHANKAR
	ENGLISH
	12/03/2000
	24
	10

	1009
	PRIYA RAI
	PHYSICS
	03/09/1998
	26
	12

	1203
	LISA ANAND
	ENGLISH
	09/04/2000
	27
	5

	1045
	YASHRAJ
	MATHS
	24/08/2000
	24
	15

	1123
	GANAN
	PHYSICS
	16/07/1999
	28
	3

	1167
	HARISH B
	CHEMISTRY
	19/10/1999
	27
	5

	1215
	UMESH
	PHYSICS
	11/05/1998
	22
	16






ADMIN

	CODE
	GENDER
	DESIGNATION

	1001
	MALE
	VICE PRINCIPAL

	1009
	FEMALE
	COORDINATOR

	1203
	FEMALE
	COORDINATOR

	1045
	MALE
	HOD

	1123
	MALE
	SENIOR TEACHER

	1167
	MALE
	SENIOR TEACHER

	1215
	MALE
	HOD


i) To display TEACHERNAME, PERIODS of all the teachers whose periods are less than 25 in ascending order of teacher name .

ii) To display TEACHERNAME, CODE  and DESIGNATION from  tables SCHOOL  and 

     ADMIN.

iii) To display the subject wise TEACHERNAME who have minimum PERIODS.

iv) To display CODE, TEACHERNAME and SUBJECT of all teachers who have joined the 

      school after 01/01/1999.

v) select max(experience), subject from school group by subject;

vi) select teachername, gender 

      from school, admin

      where designation = ‘coordinator’ and 

      school.code=admin.code ;

vii) select designation, count(*) from admin 

      group by designation having count(*) <3;

viii) select count(distinct subject) from school;

Q 6. (a) 
State and verify De-Morgan’s  law in Boolean Algebra. 



2
(b) 
Draw the circuit diagram for  F = AB’C + C’B using NAND  to 


NAND logic only.









2
(c) 
Write the Sum of Products form of the function G(U,V,W). Truth table representation of G is as follows: 











1

	U
	V
	W
	G

	0
	0
	0
	0

	0
	0
	1
	0

	0
	1
	0
	1

	0
	1
	1
	1

	1
	0
	0
	1

	1
	0
	1
	0

	1
	1
	0
	0

	1
	1
	1
	1


(d) 
Reduce the following Boolean expression using K - Map : 



3


F (A, B, C, D) =    ∑ (0, 1, 2, 3, 4, 5, 10, 11, 15)
Q.7.
a) Define the following terms:







(1)



i) Topology


ii) Protocol


 (b) 
Write the difference between coaxial and optical fiber cable. 


(1)

(c) 
Explain the following terms in short : 





(1)
(i) GSM

ii) CDMA


(d) 
Define Packet Switching.







(1)

c) Lavanya Industries has set up its new center at Hari Om Nagar for its office and web based 

          activities.  The company compound has 4 buildings as shown in the diagram below:   
(4)


[image: image1]


Center to center distances between various buildings is as follows:

	Mohan building to Rudra building

Rudra building to Xavier building

Xavier building to Satnam building

Satnam building to Mohan building

Mohan building Xavier building

Rudra building to Satnam building
	50 m

60 m

25 m

170 m

125 m

90 m




Number of Computers in each of the buildings is follows:

	Mohan Building

Rudra Building

Xavier Building

Satnam Building
	17

120

35

23


      (i)

The organization is planning to link its sale counter situated in various parts of the same city, 

which type of network out of LAN, MAN or WAN will be formed?

(i) 
Suggest a cable layout of connections between the buildings.

(ii) 
Suggest the most suitable place(i.e. building) to house the server of this organization with a 
suitable reason.

(iii) 
Suggest the placement of the following devices with justification:

i. Internet connecting Device/Modem
ii) Hub

























Xavier


Building





Satnam


Building





Mohan Building





Rudra


Building	


















































-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

[image: image2.png]